2701 Y91 - 2 N"Y1h

ANINK TIT 9232 IN 1297 PPIVAIP NIYA) 12990 IN IO L1

JP9INOPN f DX IN )T N0 | f| ON (N)
mYavrN max{f, g} 03 W [a,b] YOpa Y7 NY»ANOIN g 11 f DX (3)
Rlatel
W YPM xo € (a,b) NP N¥A e, b] T2 DANoYR f > 0 v .2
b
S >0 warvon L f(xzg) >0

:0”PON DXAAYD MNAN NPIIVNIN NPIPNON DR IPIS .3

2t =33+l 44 —1 x® =323 +x
a. )
" 2 —z—1 1:3—1—230—1—11
c. yA0 1N d. 2 _4g < 0y
r—1 ( ) (x —a)(x? + px + q) (p 4 )
rx—1 f 20 +1
x3(z2 + 1) T(r—1)2(x2 42+ 1)2

:DXNAN DONVYNN NN I1AYN .4

x
) b. : d
a/2x2—|—3x+2 /x3—1 o
/ 20+ 1 / dz
c. | —————dx d.
x(z—1)(x+2) e e —6
. / 3 +2 da f / dx
' (aj —1)2 ") x(x? +4x+5)?
i
. h. i bxr)d beR
g /cos:n /sm(am)cos( z)dr, (a,beR)
/ LI / de o[> la] >0, (z=—"— 10
i. | —————dx ] Y——, |z a , (r=——
cos? xsin’ x J Va2 —a? cost
1 / sinx 4+ 2cosx e l/ cos T o
' sin?z + 3sinz + 2 ") cos2zx
m. tan? z dx

£ ov N ospns Fonm 0t won mnomm spns f: (a,b) — Ronn .5
v (F = f ,m92)

/ F @) de = f M @) — F(f (@) + C.



“w o L[a — 1,04 1] -2 a0 fonn 6

b
lim / F@+h) — f(@)|dz =0

(h < min; |2;11 — ;| 73 102M RPN 935 £ TN DY T NPISN 1IN TA)

g(f(x)) v i R -2 nox g(x) 1 [a,b] yopa m2230orN f(z) v % .7
Ja, b] 2 Y7098



